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- %2 ImsaT 7w 290 KD naw Py
Regarding Shabbos he is not liable until it rests in the courtyard

Overview’

The &3 states that the answer of 895 27 (how one is w5 from '™ '7 on account of
71 12772 7°% 0p), cannot be in accordance with the o1 (who disagree with the
concept of "7 AN 11 709R). According to the o°»31 the 72°33 211 begins when it
enters the airspace of the 7¥n (within the walls), however the naw 21’1 comes later,
when it rests on the ground of the 7xn, so since they are not simultaneous, there can
be no exemption on account of n"2%p. Our NBON compares our XX with a
seemingly contradictory X a.

nvoINn asks:
- 79399 N2973 %9 BP MY 19 PN 2ANINY NPY 13 N3 PIPIY 11°3) TNINRN ON)

And if you will say, but since the acquisition of the animal by the buyer takes
place between the ;77°py and the 71377, we should apply the exemption of %"'2%p -

- 74 Y09 1 RYINHN XN 7T AN 529 MINT (0w n,x 97 mama) NI 1IN Y92 13599NTD
As the X 1) states in the beginning of n17p1 X 75, where X' ruled, ‘one who
threw an arrow in a 1"70 from the beginning of the four N to the end of four

mnR (he threw the arrow 1"772 MR "7, for which there is a 7 21°07) -
= SR NNIN TN NIPY VO INIIHNA PRIY ¥9P)

And the arrow tore silk in its path (while traversing the mnX '7), he is exempt from

paying for the silk, on account of n"2%p, since the 77°p¥ is necessary for the mm37’;
the same should apply here that the 213 should be 7105 since the 111 2111 was between the 7Py
and the nm7 —

!'In the X3 the text reads R¥I8» XownT 7¥ (instead of 72ma AmIT V).

2 See ‘Overview’ to previous 1813 71"7 'o1n.

3 The naw 21 of ARXIA (or 710127) MWI? MW must consist of an 7Py (picking up the article) in one "W, and a AMa7
(setting it down) in the other Mw". In our case the 213 picked up the animal (made an 77°pY) in he 1", and the 7mn
was *"1712. In between the 77°py and 7n17 there was a 772713 211 (since the 13p is effective [even before the 7in17] as soon
as it enters within the walls of the *"717). m»oIn argues that even though (technically) the naw avn is only after the 7,
nevertheless n"2%> should apply in this case since the 712°13 210 is taking place simultaneously with the naw noxo»
between the nam 7Py (which is all part of the 71ox7n).

4 See >"wn there 77°pyWw 71"7 who writes, 121 PRI ,M0D 2 RONK AMIT PR AR 2PAT A"YXR 700 LRI M7 TN YR
TR 79 A9RNR RNYW RO RO 02T TR APYY ,TARD PRI LW A 700 RNR 03T 7Py, We see from the X3 in
main> that even though the actual n 211 was after the 1171 21°1, but since the 1727 21°1 was during the 7989 between
the 717 77°pY (and there can be no 2117 for 717 without an 77°pY preceding it) therefore it is considered simultaneous.
Our case is the same as there, so why so we not apply 1n"2%p here as well?! See ‘Thinking it over’ # 2.
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moon offers a partial resolution to his question:
= 51230 RYA TIDD YWAN INT 501 13939 YI91Y NN 29D

However, according to the explanation of the n''= that it is impossible to pour a

libation (to an 1"¥) without picking up the wine first (we can possibly answer the question) -
- T %) (0w 3,3 97 pox) PPN MNT 1999 %29

For 113%9° ', who rules in P27 275 regarding 9012 that he is 21 because -
= 1909 NYY 1Y 1N KD 1WA 29HNN %P NN NYYN

He acquires the wine to be liable for payment from the time he picked it up; he is

however, not liable with his life (for serving 1"v) until the time of 71052, therefore the

1o 2vn and the 1mn 21°0 are not simultaneous so he is 21 to pay. It is evident that 7°n7° " -
= 9NN TN NYPY DD MDY PN NN STID TN NN N Y

Does not maintain that 777723537 is 79% 9712 (even though [according to the n'"7] that
77237 RP2 0017 XK [just like it is 77°py 292 7MY R'KR]), so we can assume that the

same ruling applies that 7°»7° 'Y does not maintain 77277 79X 7929, According to
this, our X713, which maintains that there is no n"2% —

= 1191049 Y297 NN NN 79997 929V NN
Is properly understood, for the question here (why is he mw® since it is not
simultaneous), is according to 5'' who does not maintain 710°1 7M1 777237 and also not 7Py
7ma7 7K. This answer is basically that 717 ' argues with 1aX " regarding 7737 771% 77°pY, and
the question in our X773 follows the ruling of 7717 ', who disagrees with 7737 7% 777 pPy—

Moo offers another answer:
= NI NN TN NPYT YUY 2810 MHNT PNYY 13929Y NN

3 See 71pYw 7"7IN R,X? MAnD and 7031 7"7I0 2,21 L. One can maintain that it is possible to be 701 without picking
up the wine first. In which case 77237 and 7071 (which is possible without 177237) is not similar to 7737 7Py (where
it is impossible to have a nm7 [of 21°17] without an 77°pY). However the n'"1 maintains that it is impossible to have 7101
without a 777237 preceding it. Therefore 710°11 7777237 are the same as 773 7PV

¢ This would also mean that if someone made a hole in a barrel and the wine poured out 1" he would not be 2771 (see
mwn non).

7 The mwn there states (according to 27) that one who is 7011 his friend’s wine (as a libation for 1"¥) 7723, he is 271 to
pay. 7°»7° ' explains the reason we do not apply the exemption of n"2%p (he is 7n°n 21 for 1"v2 T07), is because the
71 211 began when he picked up his friend’s wine (that is when he stole it and became liable to pay for it), and the
7N 21n is later when he is 7012, We need to bear in mind that according to the n"9, it is physically impossible to be
J01n without a 77237 previously.

8 If "3 would maintain the logic of 710°1 771X 7771237 (as we maintain 7037 719X 77°pY) the 7032 would not be liable, for
since the T0°1 begins with the 77237, the 1"¥ 21’1 would begin from the time of 777237, just as we say by 7m1m 7Py that
the beginning of the 719871 is from the time of 77°py, and we should apply »"2%p. However since 77 " says he is
liable that means that he maintains that even though the 710°1 cannot be done without 1172377, nevertheless the n 211
is only by the 71071 and not by the 717237. The same will apply to 7mm 77°py that > disagrees with this whole concept
that 7m3n 7% 77°pY and the 70 » 211 is A7°PY NYwn, but rather the 70 » 211 is only 7717 Nywa..

? See ‘Thinking it over’ # 1.
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And it appears to the 3''9 that the X723 indeed could have answered (that the 213

1s M5 from "M '7) since 7PY is 7T TN (as MO0 maintained in his question) -
= 199 25U 1077 DYY 9210 NN XYW JWPNN 939D NON

However the X7 was responding the words of the questioner, who did not

accept this reasoning (of 7m17 7% 71°pY) so the X3 answers him that even according to you -
SANHY 1Y T3 NIPN NY MIND 1Y 1Y HNOUNT

That it is possible for the 213 to be My, if the buyer says, ‘my 1 should not
acquire your stolen animal until it lands in my 3.

Summary
Either the X3 agrees with 727”1 (according to the n"9) that we do not say 77py

an17 7Y, or the XA is answering the Jwpn who disagrees with 777 77X 779pY

Thinking it over

1. mpoIn states that (according to the n'"7) just as 717 "1 does not maintain 777237
%1 TNMX, he similarly does not maintain 7m37 708 7Py Is it possible to
distinguish between the two that even though we maintain that 77237 is not 70°1 7%,
nevertheless (even according to the n"7) we can still say 7737 7% 77°pPY?

2. Can we differentiate regarding nn17 7% 7Py that it applies only to X"T P17
1"7173,'2 but not to MW? Mwn arx?

10'We see this from his question that the 72°33 21’71 precedes the an°» 2171, Obviously he disagrees with M7 7% 7Py,
11 See footnote # 9.

12 See footnote # 4.

13 See vop Mk 0m1 "M wTm.
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